#1 BREESLUHREEOEMEBLEERLOHBRELRERR

H5-HTEE HHFEEE H-HeFEHHRREE
HSERREE He-8TEMAREE HioHe-HeDHEE" ASHE-HeD 1 i EE®

- 87 0.3495 ** 0.4023 ok 0.1664 NS 00661 NS
REgr a-EERR -0.0216 NS 0.0250 NS -0.0841 NS -0.1593 NS
HREETERER 0.0879 NS 0.1315 NS 0.0584 NS 0.0577 NS
AD(H7.10) -0.2409 * -0.2624 * -0.0376 NS -0.0010 NS
4 B (H8) —0.1880 NS+  —0.3153 #* -0.0592 NS -0.0415 NS
1585 sk A Ot 0.1477 NS 0.0031 NS -0.0587 NS -0.1263 NS
658 LI E A O K? 0.3359 * 0.5046 ok 0.1433 NS 0.1146 NS
1A LF-Y 958 H” 0.1138 NS 0.4712 %k 0.0081 NS 0.0897 NS
TANYRHAKE -0.1422 NS -0.0076 NS -0.0541 NS 0.0942 NS

# AP E SN = (H6 ~ HSB B T 19) — (H5~ HTRS BV E 1)L/ (H5 ~ HTRE BN £9)
§: HisEEEME={(H6~HSB BT —(HI~HEB B F 1)L (H5~HTB B F 1)
1: Mann—Whitney U-test

2: Pearson's Correlation Coefficient

*:p<0.05

Jok:p<0.01

*aiok:p<0.001

NS+ P<0.1

NS: Not significant

F2 B IUEDOEMELEEREOHBRMERTERR

H5-H73E ¥ dft AV SHE~ HA-HETF B dftNoH6-

H8 D dft H6-8F-Hdft Ha () #E pnzE* Ha M HE hn S

- BT 41 0.2822 ** 0.3539 #* -0.0139 NS -0.0458 NS
R -EmERR -0.0378 NS 0.0191 NS 0.0038 NS -0.0222 NS
ERE AT ERKR' 0.0834 NS 0.1188 NS -0.0530 NS -0.0308 NS
AOHT.10)? -0.2522 * ~(0.2858 ** -0.0464 NS -0.0277 NS
HH A HE(HB)? -0.2094 * -0.3098 ** ~0.0255 NS -0.0721 NS
158k M A O 0.1365 NS -0.0116 NS 0.0042 NS -0.1463 NS
658 LA A O L2 0.3542 #* 0.5357 sk 0.2492 * 0.2513 *

1A LF-Uo5i% 0.2074 * 0.5631 sk 0.1403 NS 0.2791 %
1AL R AkE® -0.0479 NS 0.0376 NS 0.0564 NS 0.1769 NS

# dfclEINEE ={(H6~H8R B 1) — (H5~HTBB BT 1))~ (Ho~HTH B 1Y)
$: dFtEINEE ={(H6 ~ H3EB B T 149) — (HA~HE BB BN F 1))~ (Ho ~HT B BN 1)
1: Mann-Whitney U-test

2: Pearson's Correlation Coefficient

*:p<0.05

*ak:p<0.01

*dek:p<0.001

NS+ P<0.1

NS: Not significant
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BREHIYERBEHOIVILANAKRZVFEIH O A S
R3 AREERIVCHEREROEMBLEEZEREOHEBRBERERR

H5-H7EMEHEBEE HI-H6TEHHFEE

n=52 HaEREE H6-8EMERBFE HSH-HIDEME" ASHe-HeD NS
i+ Br- 4 0.3944 *% 0.3915 *x 0.1444 NS 0.0813 NS
RRr-RERR 0.0437 NS 0.1532 NS -0.0090 NS -0.0422 NS
WEEETEBKR'  -00768 NS 0.0713 NS ~-0.0108 NS 0.0471 NS
AOHT.10Y -0.2511 NS+  -0.2540 NS+ -0.0102 NS 0.0141 NS
H 4 #E(H8)Y -0.1573 NS -0.3352 * 0.0038 NS -0.0229 NS
158 R A O LS 0.1963 NS 0.1119 NS -0.0264 NS -0.0872 NS
6588 L1 E A O B2 0.3147 * 0.4479 *% 0.1878 NS 0.2108 NS
1A 7= 9588 H? 0.0283 NS 0.3946 %k ~0.0753 NS 0.0485 NS
1AL B hokiE? -0.1629 * -0.0006 NS 0.0833 NS 0.1997 NS

# HREEBNE={H6~HSB B F 1Y) —(H5 ~HTB B F 1)~ (H5~HTBEF19)
$: HREFEEME={(H6~HSB BV TF19)— (H4~H6 BBV TF )L (H5 ~HTE B F 1Y)
1: Mann-Whitney U-test

2: Pearson's Correlation Coefficient

*:p<0.05

*%:p<0.01

Ferkn<0.001

NS+ P<0.1

NS: Not significant

T4 ItBIUCLTDEMBLEEREOEERBERERR

H5-H7FE Hdft ANi5HE— HA-HE6F HdftioHE-

n=53 H8 D dft H6-8FE Hadft He 1 insE* He o # hn F°
i -Hr- 5 0.3358 * 0.4698 %k -0.0066 NS —-0.0702 NS
BEbs-EEKR 0.0076 NS 0.1889 NS -0.0575 NS —-0.0089 NS
wEEEETERKR 0.0284 NS 0.1080 NS -0.0933 NS -0.0669 NS
IN=ICIAT): -0.2482 NS+  —0.3431 *x* -0.0867 NS ~0.1087 NS
HH 4 2R (HB)? -0.1561 NS -0.3515 sk ~0.0388 NS -0.1968 NS
15 RBAOL" 0.1539 NS -0.1575 NS 0.1811 NS -0.1963 NS
65EE LA E A DO H? 0.2983 * 0.6356 %k 02163 NS 0.2904 *
1AL 95 0.0836 NS 0.6232 **x 0.0732 NS 0.2766 *

1A 21U B Ak e -0.1467 NS -0.0235 NS -0.0454 NS 0.1323 NS

#: dftiEnEE =((H6 ~H8EE Bh F 1) — (HS ~HTFE BV 1)L (HS ~HTB B F 1)
$: dftiEhnEE ={(H6 ~HSFB B 14) — (HA~H6FE BN F )L~ (Ho ~HTRB B 1)
1: Mann—Whitney U—test

2: Pearson’s Correlation Coefficient

*:0<0.05

wx:p<0.01

k% n<0.001

NS+ P<0.1

NS: Not significant
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BT LD EHEERLWNIRRANEVNTHETF O A2
%5 BAREEPSUEREEOENFLEERLIOHEERIBRERER

H5-HIEWEREE HI-HeTEHHREE

n=40 HSEREE H-8EWHFEE HOHe-HsDEME" HSHe-HSOD R’
- BT - #1 0.2976 NS+ 0.4221 *% 0.1789 NS 0.0178 NS
Bzt s-EEkR -00638 NS  -0.0921 NS -0.1832 NS -0.2714 NS+
WREEETERARKR 03474 % 0.1817 NS 0.1250 NS 0.0403 NS
AHAH7.10)? 02067 NS -0.2753 NS+ -0.0314 NS 0.0255 NS

H 4 3B (HB)Y -0.2091 NS -0.2975 NS+ -0.1029 NS -0.0517 NS

15 RBAOL? 0.0798 NS -0.1503 NS -0.1147 NS -0.1988 NS

658 LI F A D HE? 0.3464 * 0.5484 *kx 0.0885 NS 0.0046 NS

1A 247-1) 9555 2 0.1539 NS 0.5111 ** 0.0407 NS 0.1043 NS

1 ALY B hokE? -0.1844 NS -0.0801 NS -0.2543 NS -0.0685 NS

# BRE EEME={H6~H8F & F19)— (Ho~HTRBEI 1)) (Ho ~HTB BT 1)
$: HAEEHEME={(H6~HEBEI ) —(H4~H6FE BT 1)} (HE~HTB BN T 1)
1: Mann—-Whitney U—test

2: Pearson’s Correlation Goefficient

*:p<0.05

Fx:p<0.01

Aok n<0.001

NS+ P<0.1

NS: Not significant

#6 B LVFOHMEBLLERNLOBEFRBEATERR

H5-H7E¥Jdft M ioHE— HA-HE T dftihoHE-

n=39 H8 M dft H6—8F 14 dft HB ()1 = He M 1E N =}
- - 5 -0.1180 NS -0.1464 NS -0.2775 NS+ -0.3003 NS+
REt-RERR 0.0006 NS -0.2220 NS 0.0840 NS -0.0938 NS
HREEE L ERKR 0.3148 NS+ 0.2777 NS+ -0.0294 NS -0.0344 NS
ADO(HT.10) 0.0733 NS 0.0920 NS 0.1419 NS 0.2424 NS

H 4 BB (H8) -0.0060 NS 0.0350 NS 0.1467 NS 0.2986 NS+
158 = A AL -0.2792 NS+  -0.2280 NS -0.3485 * -0.2632 NS
655 L E A O 0.1135 NS -0.0127 NS 0.1290 NS -0.0580 NS
1AY=L 955E H* 0.0329 NS -0.0769 NS 0.1210 NS 0.0246 NS
IAYF-Y R AKE? -02049 NS  -0.0758 NS 0.1244 NS 0.1853 NS

# ot NI ={(H6 ~H8TL B 1) — (H5 ~HTFZ B T 1))~ (H5 ~H7E B F 14)
$: dftiE = ={(M6 ~H8M B 19) — (H4 ~H6FE &) T 1))~ (HE ~HTFE B TF 19)
1: Mann—-Whitney U-test

2: Pearson’s Correlation Coefficient

*:n<0.05

*+:p<0.01
*pk:p<0.001

NS+ P<0.1

NS: Not significant
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